Section : General Awareness

Q.1 A substantial increase in capital expenditure or revenue deficit leads to
Ans  of 1 Fiscal Deficit

x 2. Revenue Deficit
x 3. Primary Deficit

x 4. Budgetary Deficit

Q.2 Who was the last ruler of the Vaghela Dynasty of Gujarat after whose defeat the
kingdom was passed to Alauddin Khilji?

Ans x 1. Arjuna Deva

i 2. Karandev

x 3. Rama

x 4. Saranga Deva




Q.3 What is the dominant chemical present in detergent powder?
Ans X" 1. Hydrochloric acid

J 2. Sodium carbonate
75 3. Sodium alkyl sulphate

x 4. Calcium carbonate

Q.4 What was India's rank among 156 countries in the Global Happiness Index 2019?
Ans " 1. 137th

75 2.124th
/5 3.132nd
o 4. 140th

Q.5 What effect will a decrease in demand and an increase in supply have on equilibrium
price?

Ans « 1. Equilibrium price will fall
x 2. Sometimes price will rise and sometimes it will fall
x 3. Equilibrium price will be constant

75 4. Equilibrium price will rise

Q.6 Which of the following is the highest mountain peak in Maharashtra?
Ans x 1. Anjaneri

/< 2. salher

x 3. Taramati

o 4. Kalsubai Shikhar

Q.7 In the year , the Maratha Empire ceased to exist with the surrender of the
Marathas to the British, ending the Third Anglo-Maratha War.

Ans " 1.1806

X 2.1792
75 3.1811
o 4 1818
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Q.8 Which state of India has the longest mainland coastline?
Ans & 1. Odisha

X 2. Kerala

x 3. Maharashtra

« 4. Gujarat

Q.9 Which Indian badminton player was runner-up at the 2019 Swiss Open tournament?
Ans x 1. Parupalli Kashyap

o 2. sai Praneeth
75 3. Kidambi Srikanth

75 4. Chetan Anand

Q.10 Dashain' is the grandest festival of
Ans X" 1. srilLanka

x 2. Bangladesh
« 3. Nepal
x 4. Bhutan

Q.11 Which Indian batsman was the first to hit six consecutive sixes in first-class cricket?
Ans X" 1. Sachin Tendulkar

« 2. Ravi Shastri
x 3. Sunil Gavaskar

75 4. Virat Kohli

Q.12 To which of the following Indian states does the tribe of 'Nyishi' belong?
Ans " 1. Chhattisgarh

#< 2. Tamil Nadu

/X 3.Bihar
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( 4. Arunachal Pradesh

Q.13 has been established as the annual 'International Day of Happiness'.
Ans X" 1_15th January

x 2. 23rd February
75 3.31st March

o 4. 20th March

Q.14 Which of the following Indian film-makers was given the title of '"Ambassador of
Interlaken’ in 2011 at Switzerland?

Ans X" 1. Subhash Ghai
x 2. Yash Johar
x 3. Raj Kapoor

( 4. Yash Chopra

Q.15 Which of the following is called the '‘popular chamber'?
Ans o 1 Lok Sabha

X 2. State Assembly
/< 3.Rajya Sabha
X 4. Gram Sabha

Q.16 Who is the author of the book ‘India Shastra: Reflections on the Nation in our Time'?
Ans ( 1. Shashi Tharoor

x 2. Manmohan Singh
75 3. AP J Abdul Kalam

X 4. Narendra Modi

Q.17 Which of the following countries is the largest producer of wheat in the world?
Ans X' 1. Bangladesh
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#% 2. India

X 3. Myanmar (Burma)

o 4 China

Q.18 During World War Il, the Battles of Kohima and Imphal were fought in the year .
Ans  off 1 1944

/X 2.1943
7< 3.1942
X 4.1945

Q.19 Name the tissue that transports food to various parts of a plant.
Ans x 1. Sclerenchyma

X 2. Parenchyma

o 3. Phioem
X 4. Xylem

Q.20 is well-known for the golden beautification of the Harmandir Sahib Gurdwara in
Amritsar, famously known as the Golden Temple.

Ans " 1. Charat Singh
75 2. Maha Singh
o 3. Ranjit Singh
X 4. Duleep Singh

Q.21 Rajat has hypermetropia. What type of lens will the ophthalmologist recommend to
correct his vision?

Ans X" 1. Progressive

/< 2. Bifocal
( 3. Convex

X 4. Concave
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Q.22 The term 'Dolphin Kick' is associated with which sport?
Ans x 1. Cricket

/X 2. Football

« 3. Swimming

x 4. Rugby

Q.23 Which article of the Constitution of India provides that each Indian state will have a
governor?

Ans X" 1. Article 154
o 2. Article 153
75 3. Article 152
/X 4. Article 151

Q.24 What is the distinctive characteristic of 'marsupials'?

Ans x 1. They migrate from one place to another
x 2. They hibernate in winter
“ 3. They carry young ones in pouches

X 4. They lay eggs

Q.25 Blue litmus paper turns on contact with an acidic solution.

Ans  of 1 red
#< 2. yellow
/5 3. green
#< 4. brown
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Section : English Comprehension

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

Ishwarchand Vidyasagar use the ancient text to suggestion that widows could remarry.

Ans x 1. used the ancient texts suggests
J 2. used the ancient texts to suggest
x 3. use the ancient texts for suggestion

x 4. No improvement

Q.2 Select the correct passive form of the given sentence.

Credit cards are replacing cash transactions.

Ans x 1. Cash transactions have been replaced by credit cards.
X 2. Cash transactions are replaced by credit cards.
x 3. Cash transactions had been replaced by credit cards.

J 4. Cash transactions are being replaced by credit cards.

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

| have not saw him since | last leave the town.

Ans ( 1. seen him since | last left
x 2. seen him for | last left
x 3. No improvement

X 4. see him since | last left

Q.4 Select the word which means the same as the group of words given.

A state of perfect balance
Ans
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£5 1. equinox
o 2. equilibrium
x 3. equivalent

X 4. equilateral

Q.5 Select the most appropriate meaning of the underlined idiom in the given sentence.

The man heaved a sigh of relief when he was sure he was out of the woods._
Ans X" 1. discharged from hospital

x 2. released from prison
x 3. out of the forest

( 4. out of danger

Q.6 Select the most appropriate antonym of the given word.

FOREIGN

Ans X 1. rural
75 2. rustic
o 3. native
75 4.Indian

Q.7 Select the correctly spelt word.
Ans x 1. exhilerate

W 2. exhilarate
X 3. exilarate
x 4. exilerate

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

English is not a language that (1) in India. But it is used extensively in

(2) country. India comes second on the list of countries (3) most English
speakers,albeit not as the first language. English is more (4) than any single Indian
language! It has managed to (5) the entire world.

SubQuestion No : 8
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Q.8

Select the most appropriate option to fill in blank No.(1)

Ans &' 1. created
X 2. developed
( 3. originated
X 4. derived
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
English is not a language that (1) in India. But it is used extensively in
(2) country. India comes second on the list of countries (3) most English
speakers,albeit not as the first language. English is more (4) than any single Indian
language! It has managed to (5) the entire world.
SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank No.(2)
Ans o 1 the
X 2.a
x 3. one
x 4. an
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
English is not a language that (1) in India. But it is used extensively in
(2) country. India comes second on the list of countries (3) most English
speakers,albeit not as the first language. English is more (4) than any single Indian
language! It has managed to (5) the entire world.
SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank No.(3)
Ans x 1. among

x 2. from
o 3. with
X 4.py

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

English is not a language that (1) in India. But it is used extensively in
(2) country. India comes second on the list of countries (3) most English
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speakers,albeit not as the first language. English is more (4)
language! It has managed to (5) the entire world.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank No.(4)
Ans " 1 frequented

X 2. extended
X 3. comprehensive

( 4. prevalent

than any single Indian

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

English is not a language that (1) in India. But it is used extensively in

(2) country. India comes second on the list of countries (3)

speakers,albeit not as the first language. English is more (4)
language! It has managed to (5) the entire world.

SubQuestion No : 12
Q.12 Select the most appropriate option to fill in blank No.(5)
Ans x 1. saturate

( 2. pervade
x 3. invade

X 4. persuade

most English

than any single Indian

Q.13 Select the most appropriate synonym of the given word.

DEVOUT

Ans J 1. pious
x 2. loyal

x 3. respectable

x 4. revered

Q.14 In the sentence identify the segment which contains the grammatical error.

Raja Ravi Varma was one of the first artist who tried to create a style that was both

modern and traditional.

Ans x 1. to create a style that was
X 2. both modern and traditional.
x 3. Raja Ravi Varma was

( 4. one of the first artist
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Q.15 Select the most appropriate option to fill in the blank.

| sat my life as nothing seemed to be working for me.
Ans J 1. cursing

X 2. tormenting
X 3. blessing
X 4. invoking

Q.16 Select the most appropriate synonym of the given word.

RENOWN
Ans X" 1 obscurity

x 2. wisdom
x 3. conceit
J 4, fame

Q.17 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. So, | had thoughts of setting up an Indian restaurant there with my wife's support.
B. It took us two months to redesign the place to suit our needs.

C.One of the things | really missed when | set up home in Maryland, was a restaurant
that served authentic Indian food.

D.l decided to pursue this idea seriously and bought an old building in the downtown.

Ans X" 1. CBAD

/5 2.BCDA

o 3.capB

/X 4.DACB

Q.18 Select the word which means the same as the group of words given.

One who walks in sleep
Ans x 1. pedestrian

X 2. philanthropist

x 3. omnipotent
J 4. somnambulist
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Q.19 Select the most appropriate option to fill in the blank.

The roads at 15000 feet are not easily navigable and the air is and freezing.
Ans X" 1. intensified

J 2. rarefied
x 3. exalted

x 4. elevated

Q.20 In the sentence identify the segment which contains the grammatical error.

Not complying by any of the laws can land you into serious trouble.
Ans X" 1. can land you

J 2. Not complying by
x 3. any of the laws

x 4. into serious trouble

Q.21 Select the most appropriate antonym of the given word.

ASCENT
Ans X" 1. decent

x 2. distant
( 3. descent

x 4. depression

Q.22 Select the correctly spelt word.
Ans ( 1. proportion

x 2. proporsion

X 3. preportion

x 4. propotion

Q.23 Given below are four jumbled sentences. Select the option that gives their correct
order.
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A. Lyrics help in creating a distictive narrative, some conventions of which have been
carried over from the talkies era.

B. Thus, songs have outlived films in people's memories.

C. However, songs seem to have acquired a musical grammar of their own,
establishing an emotional chord with the listeners.

D. In popular Indian cinema, lyrics are to music what the heart is to the body.

Ans X" 1 ABCD

/5 2.DCBA
o 3.DACB

/X 4.ADBC

Q.24 Select the correct active form of the given sentence.

We were given very little time to prepare the presentation.

Ans X 1. They have given us very little time to prepare the presentation.
x 2. They will give us very little time to prepare the presentation.
X 3. They give us very little time to prepare the presentation.

J 4. They gave us very little time to prepare the presentation.

Q.25 Select the most appropriate meaning of the underlined idiom in the given sentence.

Many people join politics to feather their own nest.
Ans X" 1. utilize black money

X 2. make others' life comfortable
J 3. promote their own interest

X 4. serve their country
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

Q.1 arkerihe i el b v bacel il Brind leer feodlee renee v as e sl oz i ol e Tig naanta,
Lok |-t
Ans X' 1. 150
< 2 160
<3152
v 4 156

Q2 Which two sizns should be inferchanged te make the fallowing cquation corrocs?

A8 +F12+8~14
Ans  of 1. +and—

< 2 xand+

K3 +and~+

< 4 =and x

Q3 Select the missing number from the below options.

90 i B
6 8 3
45 57 7

Ans (1_ 55
K254
X3 52

X 453
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l

Q4 Inucwi ERTITETRE G PRI | TR TR ot Hl W LB TERTSRTSST RN TRl B | L HEE T | | P R TR IR T R I THE LT

Ans 1. 45225111516
X 2. 45225121515
< 3. 45215121516
v 4 45225121516

Q.5 ek ||h'-\.1_:|ill' Heai <.I1'\-il‘|:-\. o= the (Rt RE R B TS I sdiad Ilrll.rljl.'.' sl AT R RN T FEEE LN P TR REC e

A
Fl

Ans —T--""
Vi
_!....-.E

X2 i E
RUL .
—— e

A
Vi
— e

K4 Ai E
o) i

Q6 Select the figure in which the given figure is embedded.
(Rotation is not allowed).
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Ans

Ko

p k!

v

> (X2 [ 5

Q7 <A + B’ means ‘A is the sister of B’
‘A — B’ means ‘A is the brother of B’.
‘A x B’ means ‘A is the mother of B".
‘A + B’ means *A is the father of B".

fV+S*xQ—P~+T+R xU, then how is R related to S?
Ans o 1. Grand-daughter

7< 2. Daughter
#< 3. Grandson
/< 4. Maternal grandmother

Q.8
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Select the figure that will come next in the following figure series.

L QO AR 3
ol lo al
Ans ¢
F
'
O
X 2
i
v &)
QU
X4
o4

Q.9 Hplaleal Seicier = ralnted o Baninl Seieres in e savee way as fChenizne s s to
Ans X 1. Elements

v 2 Science

#< 3. Humanities

/< 4. Equations

Q10 How many triangles are present in the following figure?

Ans x1. 20
~ 217
Kl
v 4 19
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Q11 Which lerer cluster will replace the question mark (71 in the following series?

KPR IINT, JOMX I TR, 7
Ans x1. NWG

K 2 NXF

< 3. MWF

& NWF

Q.12 thmazal e flke e Far noeshemsars s sliks inonedein ey b oo s ciTenes 1 Pick the nanbespain thal i
el L R ]

Ans X 1.5:24
X2 11:120
3 13:170
X4 7:48

Q.13 Densdsierate g vivea Bifevadl by s sk snelanes © 0 sl 0 Aesameny the s iznkent b e,
evan [T ey seepnro e ar vanence pud cowncnhy kzomm dacm, el e whiich of the cotciusions boganallby Sollome s
[P TTII R T TR T

Sl nls:
Al dovemze e siicks
G dmess e bootss,
Conelusl st
RS HIEIT’C Bt QTR

n Al g ke are il

Ans 1. All the conclusions. I, IT and III follow
« 2. Only conclusions I and II follow
#< 3. Only conclusions II and III follow
/< 4. Only conclusions I and III follow.

Q.14 il liliacn reeities Tl e ilkes ane sleesan Whish nanza will b can e Gree aqymsi < o b me havip @

Ans
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v 4
<33
K46

Q.15 Tigaiskh biganges, FEEMARENT wovvtilbon ax FIMADNESTH. Huse el TROANTC AT, D an bl mn Hiad e

Ans o i ETHCOCILA
& 2. TEHCOCIAL
& 3. ETCHOCILA
X 4 ETHCPCILA

Q16 virhich letter will replace the guestion mark (7} in the following series?

X BT EE DG

X
2 O Z O

Q17 wWhich mumber will replace the question mark (7) in the following series?

115,727,134, 145, 157,170
Ans X 1. 125
X2 122
X3 127
v 124

Q.18 ‘n:dias e wmnbegrain i selve® e doawea® ans sclalaal in e conss ey seons b loas woalaon e B rwing maeni-

pais.
Smhcass Tk Poomn

« 1. Money : Bank
¢ 2. Chair : Furniture

Ans
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/< 3. Salary : Credit
/< 4. Bag : Luggage

Q19 Select the missing number from the below options.

Ans

11

17 8

Q.20 eleet fuz ecrreet puires image of the given figee wheathe neave s placed rocthe righe of rhe £ 2ore.
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R

Q21 Arrange the following words in a logical and meaningful order.

1. Writing

2. Book

3. Seller

4. Idea

5. Feedback

6. Reader

Ans  S1.4,1,2,6,3,5
W2 41,2.3.6,5
75 3.8 1,2:6; 5.3

K 4.4,1,3,6,5,2

Q.22 | zows of the fodomisg Sonw Leiter clucoars ars adiks o cectain vy and one i ddferant. Exck the cdd ons oul,
Ans X" 1. PQTXC

X 2. GHKOT

v 3 JKNRV

X 4 UVYCH

Q.23 [ hreeof rhe fallowisg fourwands ars aldas= 10 a certain wee and ans is differser. Pick the odd weare cer,

Ans  of 1. Deliberate
& 2. Examine
/< 3. Inquire
/< 4. Explore
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Q.24 1n Aeioam Shanaliveran, e el npnsasls chesieeenon s e el nemecesnds Tl bads il thie nacbaiole
E E a5 ok -

D 08 BELNS LOZOZIE 0L DArers ", The CIizhisrs Sl Lo fhes O L peone sz the Z2upker OF prreacs Lo hiar sectizular
Ly

b

Bl cogesy Lailss sios s 20e 5 preess ot 350 T Lencdrds®

Ans  of 1. 22
<28
<319
X417

Q.25 Theanoasl il cunn sgpca U W odub ol A ae o000 e & o ane, Vialed waz wenn i odlas Ao, W b
AT Sl E

Ans X" 1. 45 years
W 2. 25 years
/< 3. 20 years
#< 4. 10 years
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Section : Quantitative Aptitude

Q.1 v apeees pre ol cor B0 each Onocne, the selier gace (9 aed en s arier b bosas D Wk 1o b ceerald
T ET s paicel 6 s s el phis

Ans  of 1. 1.9% loss
X 2. 1.9% gain

< 3.2.1% loss
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X 4 2.1% gain

Q2 1ftan 40 = cot(40°— 20).then 6 is equal to:

Ans x 1. 350
X 2 20°
X 3300
W 4 250

% Ifcosd = g, then sin”0 cos6 + cos?0 sind is equal to:

Ans

84
1, o
v 125

16
25
14
25
82
125

Q.4 Ibe diffecsmees Debaeen tEe compond leras A simple ceees oz Moo 1300 peranmn foe 2 perr 35 T4 20 Wi
2t valoe o0t

Ans X 1. 2,500
2. 2,800
W 3 3.000
25 4. 2,400

Q.5
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Pha: Nallareeisgs bk dharees The: prenas g alsoibalins ol cclenim e iiens cinoiplies T Geealilfizon el e,
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Ans x 1. 78°
X 2 790
X 3 730
W 4 750

Q6 What iz the vale of x so that the seven digic munber @1870x2 iz divisible by 727
Ans x 1. 7

V2 3

X3 2

K45

Q.7  fdhieab AUl DIV e el infe et sl SRR ETTRRR T | FERHIE PO BN LR TR TR R RN b T HY L B RUI [Fh
v sqTaL

Ans  of 1. 9.8 cm
<2 78cm
<3 48cm
< 4 6.8 cm

Q.8 A ik il ¢ LEE TR PIER PR PRTAT| ARTTY FESE TR | CERSTa } O TE TR TR FEIETE TN I FTERE T | TR T RTRE TR ICP L OOy
1 e brac v neany mensdes ikl leen s acmeae cegs m e

Ans x1. 10
X2 14
<38
v 12

Q.9
Ifﬁ+;—; =22, then > + = is equal to:
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Ans ?{1. 6
V2 34

X4 32

Q.10 inzdeinzhe weiilvisneen L A i darraser sml 03 e s vhsthanch e S0 S hapednm (T2 000 = 08 than
LTS el

Ans X 1. 320
< 2. 28°
W 3 340
X 4 620

Q.11 B, T o ot Tz Dleal THE ST =0 ] 07 b v nisksanstl o700 Thasn kS48 s e R iy

I
Ans  X'1.2:3
v21:5
K3 2:5
K41:4

Q.12 Flee sl el e sevas v snsiar frases o s rasiiom o acens 605phe 20 mm a3l S om0 initoenlan: in
et fir 2 2
Ans  of 1. 1078
X 21025
< 31058
& 41020

Q.13 s iotieds 15 5000 S TE47A0 atter woezeneove dlacoums oF 3060 and |5, What 15 the maroe: prize e amale?

Ans X 1. 960
< 2 940
V'3 F920
< 43900
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Q14 The value of:

38+ (82+41x2)—4x3+12
Ans X 1. —1.2
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o | i

i A
o -] i il k-1
e El
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< 2 61
X 3 56
< 4 58

ilx '_‘I: Ll

Q.16 Tnicclass ol S0 shikbonrs H S e itz The eengae wcighi al e e fa ik el ol olhe ieia A%ka. Wlal & lla:
i weriphl o e e !

Ans 1. 58.8kg
X< 2. 59kg
X 3. 58.6kg
v 4 59.2kg
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A
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3
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X 3 8cm
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X 4 6cm

Q.18 & i+ st =un: et Hewe (amb s = 20ms Lvs el thean 1L W koo repetlier, thay can eenngd e wd dss in 0
dave, I 20w Wty s LT pLoDe oomposts I of AT ek’

Ans X 1.29
v 2 3]
/<3033
< 4 35

Q.19

fa+b+c=06 andab+bc +ca=15, then a” + 5" + ¢ — Sabe iz equal ro;
Ans o 1. 126
X 2. 98
X 3108
X 4 116

20 f(a+b) =6 and ab =8, then (a® + b%) is equal to:
Ans X 1. 216

v

<3 144

< 4. 108

Q.21 i
The value of =

+ sin“60° — cos*45° + sec 60° is equal to:

cosds”

11
4
11
3
7
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<3 375
v 2 367
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<3 1:3

K4 2:7
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X 13748
X 2 3762
v 3 3724
X 4 3642
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Section : General Awareness

Q.1 Who among the following became the fastest Asian to cycle around the globe in 2018?
Ans X 1. Deena Prince

X 2. Disha Srivastava
« 3. Vedangi Kulkarni

/< 4. Swati Sani

Q.2 The term is prefixed to scientific terms to describe something that is constant.
Ans X" 1. Mega

X 2. Quasi
< 3. Photo
( 4. lso
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Q.3 When the fiscal deficit is high, what happens to prices?

Ans X" 1 Prices increase
( 2. There is no direct impact on prices
x 3. Prices remain stable

x 4. Prices decrease

Q.4 The traditional art of ‘Jamdani' weaving originated in
Ans X" 1. Myanmar (Burma)

x 2. Nepal
/< 3.China

« 4. Bangladesh

Q.5 Dolly, the first cloned living being created at Roslin Institute in Scotland was a
Ans X" 1. dog

x 2. cat
( 3. sheep
x 4. cow

Q.6 What is the value of all tangible resources such as raw materials and labour that are
used in the production process called?

Ans x 1. Opportunity Cost
#< 2. Variable Cost
( 3. Real Cost
7% 4. Fixed Cost

Q.7 The term 'Blood Moon' is used to refer to
Ans X" 1_Full Moon

« 2. Lunar Eclipse
X 3. Solar Eclipse

x 4. Crescent Moon
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Q.8 What is the chemical name of the deadly poison 'cyanide'?
Ans " 1. Sulfuric acid

75 2. Nitric acid
x 3. Hydrochloric acid

“ 4. Prussic acid

Q.9 Which of the followings is the national bird of China?
Ans x 1. Barn Owl

x 2. Parrot

( 3. Red-crowned Crane

#< 4. Robin

Q.10 Mitra Mela was a revolutionary organisation founded by Veer Savarkar in the year

Ans X" 1. 1864
W 2. 1900
/X 3.1856
/< 4.1873

Q.11 Who is the author of the book 'Freedom from Fear: And Other Writings'?
Ans “ 1. Aung San Suu Kyi

x 2. Barak Obama
x 3. Nelson Mandela

75 4. AP J Abdul Kalam

Q.12 Who is the first Indian national to win the 'Sri Lanka Rathna' award?
Ans X" 1. Vinod Mehta

X 2. Dileep Padgaonkar
« 3. Narasimhan Ram

x 4. Khushwant Singh
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Q.13 The river Ganga emerges from Gangotri Glacier and ends at
Ans x 1. Arabian Sea

x 2. Pacific Ocean
x 3. Indian Ocean

“ 4. Bay of Bengal

Q.14 In which year was the University Grants Commission (UGC) formally established?
Ans X" 11950

/X 2.1947
of 3. 1956
/X 4.1964

Q.15 How many International airports are there in India?

Ans 1. 14
/X 2.16
317
X 4.15

Q.16 Who presides over the joint sitting of the Lok Sabha and the Rajya Sabha?
Ans ( 1. Speaker of Lok Sabha

x 2. Deputy Speaker of Lok Sabha
x 3. Prime Minister

x 4. Vice President

Q.17 Who among the following was given the title '‘Quaid-i-Azam’'?
Ans X" 1. Sardar Vallabhbhai Patel

o 2. Muhammad Ali Jinnah

X 3. Mahatma Gandhi
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£% 4. Jawaharlal Nehru

Q.18 In which year did the Indian Premier League (IPL) start?
Ans X" 12002

o 2.2008
75 3.2010
/X 4. 2004

Q.19 When was Indian Super League started?
Ans X" 1.2015

75 2.2014
/X 3.2012
of 42013

Q.20 UN's Economic and Social Council (ECOSOC) elected to the 18-member
committee ‘CESCR’ for the Asia Pacific seat in 2018.

Ans x 1. Chandrashekhar Dasgupta
« 2. Preeti Saran
75 3. Arundhati Ghosh

X 4. Shashi Tharoor

Q.21 Burma became independent soverign republic in the year
Ans  of 1 1948

75 2.1946
/X 3.1962
25 4.1950

Q.22 Which country in the world has the largest number of international borders?
Ans X" 1. India
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of 2. China

X 3. Pakistan

x 4. Nepal

Q.23 Which instrument is used to measure blood pressure?
Ans X" 1. Glucometer

( 2. Sphygmomanometer
x 3. Lactometer

x 4. Thermometer

Q.24 Catriona Gray of ____ was crowned Miss Universe in 2018.
Ans & 1. Spain

75 2. Brazil

o 3. Philippines

X 4. Venezuela

Q.25 Under which article of the Constitution of India can members of the Anglo Indian
community be nominated to the Lok Sabha by the President?

Ans " 1342

W 2331
/X 3.326
/X 4.330
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Section : English Comprehension

Q.1 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. If the mixture becomes too thick add more milk.

B. Finally, add sugar and nuts, and your kheer is ready.

C. Boil milk in a heavy-bottomed pan and add rice.

D Cook for about twenty minutes stirring every once in a while till the mixture
thickens.

Ans
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/5 1.BADC

/< 2.DACB
o 3.coaB
75 4.ADCB

Q.2 Select the most appropriate meaning of the underlined idiom in the given sentence.

Throughout his speech the crowd was all ears.
Ans X" 1. talking loudly

x 2. covering their ears
x 3. making a lot of noise

J 4. very attentive

Q.3 Choose the option that is the active form of the sentence.

It was decided by the members that the report would be placed before the Chairman
for his comments.

Ans J 1. The members decided to place the report before the Chairman for his comments.
x 2. Did the members decide to place the report before the Chairman?
X 3. The Chairman decided to place the report before the members.

X 4. The Chairman's comments were to be placed on the report of the members.

Q.4 Select the most appropriate synonym of the given word

INTRICATE
Ans J 1. complex

X 2. colorful

x 3. connected

x 4. complete

Q.5 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. This network of stories is known in academic circles as 'fiction’ or ‘imagined
realities'.

B. However, an imagined reality is not a lie.

C. Over the years, people have woven an incredibly complex network of stories.

D. Within this network fiction not only exists but also accumulates immense power.
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Ans X' 1. ADBC

/< 2.DBAC
o 3.crpB

75 4.DBCA

Q.6 Select the most appropriate antonym of the given word.

AcCQuIT
Ans J 1. convict

x 2. forgive
x 3. evict
x 4. clear

Q.7 Select the alternative that will improve the underlined part of the sentence in case
there is no improvement select “No improvement”.

The flowers smell so sweetly that | want to pluck them.

Ans X" 1. smelling so sweetly
x 2. No improvement
J 3. smell so sweet

x 4. will smell so sweet

Q.8 Select the correctly spelt word.
Ans x 1. meazure

x 2. roberry
“ 3. leisure

x 4. restaurent

Q.9 Identify the segment in the sentence, which contains the grammatical error.

"Unless you did not do your homework you will be punished,"” said the teacher.
Ans X" 1. do your homework

“ 2. Unless you did not

x 3. said the teacher.
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£% 4. you will be punished

Q.10 Select the word which means the same as the group of words given.

Incapable of being corrected
Ans « 1. incorrigible

X 2. incredible
Z< 3. inviolable

x 4. impossible

Q.11 Select the most appropriate antonym of the given word.

ABSURD
Ans x 1. sensitive

/X 2. selfish

x 3. sentimental

( 4. sensible

Q.12 Select the alternative that will improve the underlined part of the sentence in case
there is no improvement select “No improvement”

| am very much pleased to see you here today.
Ans « 1. very pleased

X 2. No improvement

x 3. very pleasing
X 4. too much pleased

Q.13 Select the correctly spelt word.
Ans X 1. quiete

x 2. queit
« 3. quiet
X 4. giete
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Although a wild elephant, Chinna Thambi did not grow up entirely in the wild. For over the last

(1) he has had easy (2) to food at Thadagam, a village surrounded by the
Western Ghats near Coimbatore. Brick (3) tempted him with (4) of water and
he loved the palm pith that was used as (5) for baking bricks.

SubQuestion No : 14

Q.14 Select the most appropriate option to fill in blank No.(1)
Ans x 1. summer
x 2. annual
(I 3. decade
x 4. festival
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Although a wild elephant, Chinna Thambi did not grow up entirely in the wild. For over the last
(1) he has had easy (2) to food at Thadagam, a village surrounded by the
Western Ghats near Coimbatore. Brick (3) tempted him with (4) of water and
he loved the palm pith that was used as (5) for baking bricks.
SubQuestion No : 15
Q.15 Select the most appropriate option to fill in blank No.(2)
Ans x 1. entry
X 2. approach
« 3. access
x 4. way
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Although a wild elephant, Chinna Thambi did not grow up entirely in the wild. For over the last
(1) he has had easy (2) to food at Thadagam, a village surrounded by the
Western Ghats near Coimbatore. Brick (3) tempted him with (4) of water and
he loved the palm pith that was used as (5) for baking bricks.
SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank No.(3)
Ans

X 1 tub
o 2. «ins
x 3. store
X 4 jar
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Although a wild elephant, Chinna Thambi did not grow up entirely in the wild. For over the last

(1) he has had easy (2) to food at Thadagam, a village surrounded by the
Western Ghats near Coimbatore. Brick (3) tempted him with (4) of water and
he loved the palm pith that was used as (5) for baking bricks.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank No.(4)

Ans X 1. many
X 2. much
o 3. plenty
X 4. load

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Although a wild elephant, Chinna Thambi did not grow up entirely in the wild. For over the last

(1) he has had easy (2) to food at Thadagam, a village surrounded by the
Western Ghats near Coimbatore. Brick (3) tempted him with (4) of water and
he loved the palm pith that was used as (5) for baking bricks.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank No.(5)

Ans 5" 1 matter
75 2. logs
W 3. fuel
75 4. fodder

Q.19 Select the most appropriate meaning of the underlined idiom in the given sentence.

Since he secured the first rank Sudhir has become swollen-headed.
Ans J 1. conceited

X 2. unwell
X 3. famous

X 4. well-connected

Q.20 Select the most appropriate option to fill in the blank.
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When you want to expand your vocabulary the best thing to do is to relate a known
word with an one and guess the meaning from the context.

Ans x 1. essential

x 2. unclear
J 3. unfamiliar

x 4. unnecessary

Q.21 Identify the segment in the sentence, which contains the grammatical error.

The reduction in the cost of education due to an increase in subsidies offer by the
government is also seen as a reason to get more educated.

Ans X" 1. The reduction in the cost of education
J 2. offer by the government
x 3. is also seen as a reason

x 4. due to an increase in subsidies

Q.22 Choose the option that is the passive form of the sentence.

A campus fire in California caused the death of at least twenty-three persons.

Ans x 1. At least twenty-three person's death was caused in a campus fire in California.

x 2. The death of at least twenty three persons caused a campus fire in California.

x 3. The death of at least twenty three persons will be caused in a campus fire in
California.

J 4. The death of at least twenty three persons was caused by a campus fire in
California.

Q.23 Select the word which means the same as the group of words given.

That which cannot be heard
Ans X" 1. hidden

75 2. invisible
o 3. inaudible
X 4. slight

Q.24 Select the most appropriate synonym of the given word.

ASSIST
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Ans X 1. create

X 2. mend
“ 3. help
X 4. change

Q.25 Select the most appropriate option to fill in the blank.

In order to to a new place you may need to adjust to the ways of that culture.
Ans X' 1 adhere

x 2. avoid
« 3. adapt
x 4. adopt
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

Q.1 o i wennsbipren, e pendnm raeaaan e b e il apes npneaste cUleees plasas sl since
reapenenre 0 lapes”, The ramoecs gives s AT peprssens fs D8 oF [Arians i miar pautieular cnesory

Ll ey ectckaters are ehes plvers bur 000 slepe”
Ans  of 1. 22

<2 34

<3 40

X 4 36

Q2 wWhich letrer-cluster will raplace the question toark 71 i the following series?

PRI, TWX, 7. BDF, F1iJ
Ans X' 1. YZB

v 2 X7B

< 3 XAB

X 4 XZC

Q3 “Namable' is related to *Precions’ inthe same way a3 ‘Diry® is relared o - "
Ans X 1. Farm

v 2 Arid

< 3 Wet

< 4. Rough
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l

Q.4 | ree of the feddomisy S letter clusners are aiike wr a cectain vy aud one s dfferant. Pk the cdd oo oul.

Ans X 1. BDGKP
X 2. SUXBG
< 3. OQTXC
v 4 JLKRW

Q3 Select the figure that will come next in the following figure series.

Ans

Q6 wwhich letter will replace the question mark (7) in the following series?

Pl R W T..% A X
Ans X 1.7

X2 w

vy

x4 X
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Q.7  hsaal e I'||:k-'.l\.'ﬂ|_l Fruar ||||"||-\.'r\-_'\-u:-c e shibs T mosecin -y Al cneie diiTene . Pick ihe Illll\.'."-lHil thal is
fud s 1 ] i B ]

Ans X 1.7 ;5]
K2 8:66
X3 13:171
W 4 10:98

Q.8  niduar ihe weniatbpuir e b b cnesbonia cladind it canee v i arethe: e aia in e Nkt wes-

palr.

Leipenclasy | sEln
Ans

/< 1. Cardiology : Angiography
+ 2. Orthopaedics : Bones
/< 3. Paediatrics : Lungs

/< 4. Medicine : Treatment

Q.9 ekl cpelioer ek shepdnts v b pises b quainet st e Tpsper wenbd sppear s 70 s bkl s b thedbiad line

o

Ans
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Q10 Select the missing number from the given options.

g Z7 9
T 3 3
9 5 7

Ans X1. 16
X2 25
X3 36

v 64

QA1 Thewumol e vnmabapes o Aeine i b grvalfaile S 80 wooe (0 poane fonoees Aanes ane will be sl
ol Ieze praeallalbas s s, Wlen i e mesl ane?

Ans  of 1. 10 years
< 2. 20 years

< 3. 16 years
K< 4. 12 years

Q12 3%hich tao zigns sheuld be inferclanged fo maks the following couation eorroes?

=2 a+2=|%
Ans X1_ % and +

X2 +and-

W 3 +and+

X4. =+ and =
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How many triangles are there in the following figure?

Ans ( 1. 28

Q14 Arrange the following words in a logical and meaningful order.

1. Hunger

2. Cry

3. Feeding

4. Child

5. Sleep

6. Mother

Ans  of1.4,1,2,6,3,5
52 4,1,2,3,56
X3 4,1,3,6,5,2

X4 4,52,6,3,1

Q.15 Tleaasf Tonanl predlinesa ol e eenes dise ane sloe . ohiclepolsl will b onihe o ggreain o e eiring &
.{.-' ; '\-\] ..-.-' % ,:__ g '\-.}
‘12 [ SR R
.."'\-.1--' - e .-"-.. ..."'-.\_..-'.

Ans x1. £
v #
Ko+
<48

A
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Ans

el e carmecs mimer image nf Hie giver

1 figirre when the mizrar is placed to rhe ngin nf the fignre

Q17 Select the figure in which the given figure is embedded.

Ans

(rotation is not allowed).
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X 2

< 3.

Q18 <A + B’ means ‘A is the brother of B".
‘A — B’ means ‘A is the wife of B”.
‘A * B’ means ‘A is the daughter of B’.
‘A + B’ means ‘A is the father of B’.

IfP+SxQxR-T+V-=+1U,then how is T related to P?
Ans X 1. Paternal grandmother
/< 2. Maternal grandmother
« 3. Maternal grandfather
/< 4. Paternal grandfather

Q19 wwhich mumber will peplace the question mark (7) in the following series?

118, 1729 [d1; 154, 1687
Ans  of 1. 183

<2 182

<3 181

< 4 184
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Q.20 hosithe aquiiean thal i cbd el Sind ol s dle sene v e sssantnaniaa b adual el S nanta,
ot L [ N Sy
Ans X1, 122
v 2 1332
< 3 1331
K 4121

Q.21 ¢ acode anmurge, ARDDUS 3ot an LISL232LHL How nedl 95 JLE e women 25 o at langmags!!
Ans X" 1. 19251921513

& 2 18251820513

v 3 19251920513

& 419251920514

Q.22 (wndscrmba i, Bifevadl by ece oo sk s b 0 seal 0 Secameny the iz b me.
wran L2 ey meenn ro e 2r vanans e el s nhy loonm daan, Terade which of M coaciusions ozeally sollams
faan e sluleicriks

Sl
All perizaper are axvelnpes
i envzing 15 3 .
s T[T P
s erreslisis e poesisnls

15 T eer L oan esveiooe,
n B izl e pegas

Ans 3 1. Only conclusions I and IITI follow.
« 2. All the conclusions, I, IT and III, follow
/< 3. Only conclusions I and II follow
7< 4. Only conclusions II and III follow

Q.23 [ hre ot rhe Sallowes fonrwank ar= aldss i0oa certain waz and ans is diffarecr. Pick the add ward cor,

Ans 1. Nose
# 2. Ears
/< 3. Eyes
« 4. Throat
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Q.24  inazwk Beprps CNLDEATANYL s arillenas BOURILEYTEA D e s ERCICLAL be wrillenag in B
Bnetivae?

Ans X" 1. T AICIGREPUS
& 2. REPUSGLAICI
« 3. REPUSELAICI
& 4 USEPRFICAIL

Q25 gelect the missing number from the given options.

64 49 2
12 i7 &
M 24 B
Ans X1- 25
X212
X3 36
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Section : Quantitative Aptitude

Q.1 dzipclpes of M dusenis A0 are pids The avecige weote ol dre ek class s 53907 kp and e seeror wapl o1 e
FArs B3 57 kg, Whet L= e aveege weiEhe o o bows

Ans %1 6] ke
< 2 63kg
< 3 60 kg
4 62kg
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Q.2 (e cidepense berreeen ooz o0 mesesd and moipoe ezt 2o T 380 ser A dor 2 veas o Y Wk the

watiead +7
Ans X" 1. 8000
& 2. 7400
v 3 7500
&< 4. 7800

@3 If 3s5in@ = 4cosb, then tan?6 + sin® — cosh is equal to:

Ans
v i

= 2.0
< 3.
r LN i

Q.4 foacimte wi b omine 0L av e ST antelsan anglioaf 112900 e st ul ke cing e Clend &1 i< pnechiaad
et P b S s el e

Ans x1_ 482
X 2 76°
v 3. 66°
X< 4. 68°

Q.5  Taldialpies e puaalundinn of doe facaillion cnr il e o e sis o,

Ve
ekt I"'] o0 I e O TS = O Bl 1
A 52 | 5A EF] [ 43 1]
E 2E 4L 44 O 52 337
L i |97 £ [ a7 74

[rae 1l poostne o n (0 ik chanes Lo sl veers L owpoesamad brd Cle car vhi o the omuinel 2ncle of Tie sezioc
e sg pokiction iz b yoar 2204, oot abelds o

Ans X1. 61°
v 2 63°
< 3. 65°
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< 4 590

Q¢ 1fa:b=2:3,then(5a+3b): (6a— 2b) is equal to:
Ans X' 1.3:2

X210:7

v319:6

X4 17:5

Q7 ffa bt e=6wwia® | 8 1ot Zabo= 126 thenab | be | ea is egual 1o
Ans X1. s

w25

<36

X412

Q.8 Tl wlivivzica el A, Thensd 17 s b der iz o720 0% 5 Sk " |Ild,l.‘||h.'l. Ill.:\.' i.ul'\:-\.'lllﬂldl.' b lddk inn I|i:.1'L TR
neery b will 3 s carmple ke Ea ol e sk

Ans X1_ 4
<28
~35
V6

Q.9 1l ratii of retrirenbar G e fostiess ol a cone of Pl 1Az San s s mapaadiecly Wil is tx

ol o z-%;?
Ans X' 1. 564

X 2. 545

X 3 552

W 4 539

Chosen Option : 3

Q.10
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Aoy ietieds 15 5000 o TEL 2 acter mtecasslve dissomies oF 250 and |5 Whet 15 the maroed price ef e amel=?

Ans  of 1. T960
< 2. 3940
< 3. 7980
< 4. 1000

an If Vx — :—E = 2+/2, then x2 + ﬁ is equal to:
Ans X 1. 104

V2 o8

<3102

#< 4. 100

Q.12 ps adizhes are soid for T onoce e s eller parned 27 and 02 he ok e doed T W ERE s s ovenall miner
JO53 PEMEIIIEE. BEAMSE 10 ol Lol powe

Ans 1. 3.6% gain
W 2. 3.4% loss
& 3. 3.6% loss
X< 4. 3.4% gain

Q13 1f cosec36 = sec(20°+ 20), then @ is equal to:

Ans X1_ 15°
X 2200
X 3. 30°
W 4 140

Q.14 Table abows the production of rice | ln milkion toues s of hres staras oVer X years,

2001 [ 3013 |30 43005 [0l
F. = i 5.8 A} &5 &

B {38 141 |44 [4%" |53 (37
5 A 13l 158 id 167 |74
What I3 te ratee of the prochiction of ciee in all thes sares bnthe vear 204 1o et o 20167
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Ans  of 1. 87: 100

< 2 .85:102
< 3.89: 100
X 4.85:103

Q15 g at 2 obhis weual spesd, 3 pecsac reaches b oElce 12 anmmes jaie than w2 umal thme. 25 v2ual e in
minnhes e

Ans  of 1 54
< 2 60
X372
X 4 45

@18 The value of sin?20° + sin®70° — tan?45° + sec60° is equal to:
Ans X125
V22
<3
X4 3

7 Ifa+b=>5andab =3, then (a® + b?) is equal to;
Ans of 1. 80

K275

X3 70

K 4 65

Q.18 il g el emgis S ienaeaal by 1% A eansnetls e e ik espesalilos By s enks DNyl penaslgps
comer b cpe cecial place, Aol e redocs bos soenegricn’

Ans X1- 71
<269
X315
V473
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Q.19 i zels ed radiug Lz, 3 chood is ol 2 dostazee of Soiz frocn it cenirs. What 15 the Length of tee chocd
Ans X 1. 12cm

' 2. 24cm

< 3. 18cm

< 4 20cm

Q20 “What is the vale of & 3o that the seven digit number 68133 08 is divisible b 822

Ans x1. 4

Q21 The value of:

75+(54+45%x2)—8x4+32
Ans x1. 0.2

K2 -02

<3 0.1

v -0l

Q.22 Tahle shows the preduction of rice (o million teanes) of three siates over six years.

Y eArs
e e e e e 1 T ] ]| 11
A 3.2 [Saxk [5E b.2 4.3 %
B 38 |4l A 4.8 3.2 3.7
L 45 |50 -4 642 | 67 L4

Shles

what i the average production of rice in stare A ever the vears {in million wonnes)?
W, AN 5.8
<259
V36
X4 6.1
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Q.23 Table shows the production of rice (in million tonnesh of thrae states over six vears.

r Yiedrs

P JOlLf 3012 (3013 L 20kd 20015 | 2006
ot S22 |54 T 65 6.5
B 18 |41 44 48 {52 T
© 4.5 [532 5B 164 16T 7.4

"What iz the pereenmame increase in the prodeetion of res in B from 2014 to 20167
Ans X 1. 1775

K 21725

v 3 1875

741825

Q24 B AROP e T, GRm e and T B Tan 2450 |l AP thuy AT: 4 cumnl 1
Ans  of 1 8cm

< 2 12em

< 3. 9cm

~ 4 ?cm

Q.25 o T, T prein o D s bt TOP . D0 = 30 4 ot 0 s 1 s amaialpnnn o T Tacu ) R 2480 o gl

"
Ans  X'1.3:8
2245
K3 1:4
va3:14
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